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1 Introduction

The interface between eNB and gNB is assumed to be Xx. For the Xx interface between LTE eNB and gNB, the procedures and protocols is assumed to remain alike those of DC while minor enhancements might not be ruled out. This document discusses the impact and enhancement to support Option 3.
2 Interface between eNB and gNB
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The interface between eNB and gNB is applied in the scenario option 3 and option 3A. This interface is within the RAN3 study scope. The eNB and gNB belong to different RAT, the control plane and user plane protocol in eNB and gNB may be different. In before, we don't have direct horizontal interface between nodes belong to different RAT. For example, X2 interface support connection between two intra-LTE node. Inter-RAT need to consider whether the nodes can comprehensive each other. Therefore we need to analysis what direct interface should be used. Generally, there are three alternatives to define this interface: 
1. Interface is X2 (i.e. gNB has Xn and X2) 

In this alternative, X2 is enhanced to support inter-RAT DC. gNB implemented both X2 and Xn. Xn is used for standalone case. If only Option 3/3a is considered, as the minimum protocol, the gNB can has X2 only, but need to have the function to translate X2 parameter to the Xn parameter. The enhancement of X2 procedure include:

· X2 common procedure: the gNB serving cell information should be included. Whether the gNB cell information is same as eNB is FFS.
· X2 dedicated procedure: relay on whether the gNB can understand the RRC-container included in the DC related message or not. If not, how to coordinated UE capability is very different from X2. 
2. Interface is Xn (i.e. eNB has Xn and X2)  
eNB implemented both Xn function and X2 function. If the SeNB is the gNB, the MeNB sends Xn message to the SeNB. If the SeNB is normal eNB, the MeNB sends X2 message to the SeNB. Since the Xn is the interface between gNBs, between gNB and evolved eNBs, so the Xn is designed to support both intra-RAT and inter-RAT DC procedure. 
3. Define a new interface Xx.

Legacy horizontal interface is intra-RAT interface, but the interface for tight interworking is inter-RAT. If the inter-RAT interface has large different character, a separated interface for inter-RAT only may be beneficial. How large the difference is relaying on the NR protocol design. This new Xx interface can be used for all inter-RAT tight interworking scenarios.
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1) Dual protocols in gNB
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2) Dual protocols in eNB
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3) Single protocols in eNB/gNB

If using alternative 1,currently it is not clear how much the changes will be introduced to X2 procedures in order to support option 3/3a. Since the cell related parameters has not been defined in NR and how to coordinated UE capability is not clear. It should be noted the changes might not be minor as we assumed.
Proposal: It is proposed RAN3 to decide the interface between eNB and gNB.
3 Conclusion
This document discussed there are three way to design the interface between eNB and gNB, one is enhancing X2 to support IRAT interface, another is designing Xn to support IRAT interface, the third is to define a new interface for IRAT only.
Proposal: It is proposed RAN3 to decide the interface between eNB and gNB.
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